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THet - THOHCH=H Zgkatel 23,651,252 22,978,419 672,833
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= 447,814 557,448 A 109,634
Mool =24 40,840 21,840 19,000
= 15,000 0 15,000
= 25,840 21,840 4,000
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= 15,000 0 15,000
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01 =LHO4 b 9,940 5,940 4,000
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= 326,332 453,432 A127,100
401 Al&HIZ 20| 728,668 155,768 572,900




2A:

UFSESES )}

M THH - THOHCHZ Sgh2tel
&l THOHCHZH 2ke| (EEEE))
SA - B BR(S) - HRAY - BAS o vy ol H o HImS2
£ 700,000 0 700,000
= 28,668 155,768 A127,100
01 Al&HI 728,668 155,768 572,900
OMHS A ZE 2 I3 02 0 147,100 A 147,100
Ol4kg THHSXEZ T AX|(4E SEEnL
Al 700,000 0 700,000
£ 700,000 0 700,000
OXRIIEEAZI| A== JISH WA 20,000 0 20,000
ZHHA(Ex) 43,000 0 43,000
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405 KHAHESH 16,000 0 16,000
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01 ML ESHSHI 16,000 0 16,000
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< 16,000 0 16,000
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= 10,910,500 10,910,500 0
< 5,455,250 5,455,250 0
= 5,455,250 5,455,250 0
HE MoHASMEXT ZHIAY 7,600,000 7,600,000 0
= 3,800,000 3,800,000 0
< 1,900,000 1,900,000 0
= 1,900,000 1,900,000 0
401 AIEHIZL 20 7,600,000 7,600,000 0
= 3,800,000 3,800,000 0
< 1,900,000 1,900,000 0
= 1,900,000 1,900,000 0
01 Al&HI 7,59%,000 7,600,000 24,000
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401 AlZBIL LY 4,216,900 4,216,900 0
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< 1,053,225 1,054,225 21,000
= 1,053,225 1,054,225 21,000
03 Al 20HHI 4,000 0 4,000
Oscl S+oided S| 4,000 0 4,000
= 2,000 0 2,000
< 1,000 0 1,000
= 1,000 0 1,000
TE NHTHHLIEMNSEXI T FHIALS 200,000 200,000 0
= 100,000 100,000 0
< 50,000 50,000 0
= 50,000 50,000 0
401 AlEHIYL S THYI 200,000 200,000 0
z 100,000 100,000 0
< 50,000 50,000 0
= 50,000 50,000 0
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s 5,143 2,452 2,691
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NERCEE=TI= 2,349 769 1,580
02023 SIS NS BRIAIY HeErY 1,576 0 1,576
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